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32V 2Q
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40 1Q 16V
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1.38
1
1. 40 1.40 E, =20V E,=E, =12V R =R, =10 Q R, =R, =R, =2 Q
A B

1.39 1.40
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2.1 2.

E = Blv 2.1

/ m/s
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A
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AP— Wb

e=N=Z AP = @, - @, 2.2
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2.5
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e
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AN et
Y
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2.5
v
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e = 2Blvsin wt

E,. =2Blv t=0 o
e = E _sin wt + ¢, 2.3
3.
2.6 b
e
Eb-- @
{E£: e ” !
l ©) , ®
P SIS ® ﬂ: | 3n 12n ot
/ N 21 I 2 |
N X ’l S : | |
\\\ /// : i @ } E
I
/// 4 | L
535 '
LEEH REER
g ikl
& (®KN) (R N)
5K
(a) (b)
2.6
2.1.4
1.
T S
7
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1
T = —
f
w / rad/s
w =2muf
50 Hz 60 Hz
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220 V 2202V
3.
e=F sin wt+g, wl + @,
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@ 180°
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2.1.5

2.3

2.1

2.2

t=0.01s
1

e, 2

2 t=0.01 s

u = U,sin

u = UIIlSin wt + ¢ll

i =1 sin wt + ¢,

U, =2202V

o = 2mf = 1007

u = 220 2sin( 100wt + 7] V

u:llOﬂsin(lOOm+%

U“\ = 110'\/27V ¢u = %
2w _ 2w _
T—w—looﬂs—0.0ZS

£=50 Hz

) v

L

gou,

SE

%)

ol e, = lloﬁsin(mow «0.01 + %) V~_135V

2.7

2.9
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2.8
t wlt
3.
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2.1 m 6l

2.6 b
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2.8
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®
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e =60sin wt + 60°

2.2.1

V u =30sin wt +30°

2.2

A
+ + O

12 v/50Hz 12VAW ® 12 V/50Hz

V 1 =5sin wt —30°

A

©

o— | o
(@
2.11
12 V 50 Hz
2.12

u = U,sin wt

®)
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I U
2.12 2.13
i = I sinwt
2.
U
=Y
R
[ — Uﬂl
m R
L_u
=R
2. 11
2.3 R=100 O
:H&@m@%m+%)v 1 2
U =220V
U 220
1= =204=224

izzzﬁm@mm+1

2.2.2

2
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mH

2.14 a

v = N@ 2.14
Wb
Wb
V=N =1Li 2.15
L =v:i=Nd/si 2.16
H

pH
1 H=10"mH = 10° wH

(a) BrS (b)) %051

2. 14
A
e, =— X; 2.17
H
/ A/s
2.15
S
2.15 b 220 V
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2. 15
220 V
2.14 b
3
u+e =0
A
u=-e = LKZ
X,
X, = wL =27L 2.18
X,— Q
2. 16 1 ~10 Hz
90° 2.17
90°
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i u:Umsin(a)H%)
— =g
A Y'Y
+ u -
gy
/
(0] t
i=I_sinwt
s
N\
2.16 2.17
U
i = I sin wt + @,
ar
2
i
= Uysin| 7)
T Yesiel ¥ @ * 5 2.18
2
X, U
1
U
I = — 2.1
X, ?
2.4 L=2.5 mH u
15 ﬁsin(SOOwt+%) \ 1 X, I 2

X, =2mfL =500 x3.14 x2.5 x 107 Q = 3.925 O

= U A3

X, 3.925
il

[\
\S]

i = 3. Sﬂsin(SOOqﬂ - 1) A
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2.2.3
2.19
X¢
1.
1 1
Xe =—F =-— 2.2
¢ wC  2mfC 0
2.
2.19
90° 2.20
2.21 90°
u,i 0
i=I _sinwt u=Umsin(G)t—%) % i
O / \X |
U
2.20 2.21
1 = I sin wt + @,
u = Umsin(wt + @y — 1)
2
3.
2.19
U
I =— 2.21
Xe
2.5 C =40 uF w =220 ﬁsin( 1007 —%) v

X, 2 3 4
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1 1

X, =—=—""—"""0=80Q
7 wC 314 x40 x 10°°
2
U
goUn 222002 oy
V2 V2
U 220
=2 =220A=2.75A
X, 80 75
3
4 4 4 v
Pi =Pty Tty T
1 =2.75 ﬁsin(looﬂt + %) A
4 2.22
100V
1A
2.22 2.5
2.2.4 RLC
RLC 2.23
RLC

2.23
t = [ sin wt
Ug i

up = RI sin ot = U,sin wt

1T

2

u, = XLImsin(wt + 1) = ULmsin(wt + %)

(SIERN

2.23




Ue = [mXCSin(wt - 1) = UCmSin(wt - 1)

U =up +u, +ug

1.
up 1 u, 90° u, 90°
RLC
O X, >X, w, >u, U, U, U, 2.24 a
u i 90° o u
i
UL - Uc
¢ = ¢, —¢;, =arctan——— >0
Uk
U UL Ur
_____ i U
| ¢ : i
.. ! .
U tUg : U’C+UL i U
- U
U, i
Uc Ue UC
@ (® (©)
2.24 RLC
@ X, <X, u, <ug 2.24 b u i
90° ¢ u i
UL - Uc
¢ = ¢, —¢;, =arctan ——— <0
Uk
@ X, =X;
u i
=0, —¢ =0
2.24 ¢
2. RLC
2.24 a U Uu, U, U,
U

Uy 90°
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U, -U;
U= JUy+ U -U, " 2.22
Upg=RI U, =X,] U, =X_.I
U= JR + X, -X,’T=1Z]I
U
I = 2.23
| Z |
2.23  RIC
1z = JR+ X, -X.° 2.24
Q
X
X=X, -X,
Q
| Z| = VR + X* 2.25
I
| Z | R X 2.25 ]
| Z| R ¢ X
X, -X z
¢ = arctan R - = arctan % 2.26 R
2.25
3. RLC
@ : : RL 2.26 a
|z|
XL
4
! R
(b)
2.26 RL
RL

U= JU,+U, = JR +X,1=1Z]I

=17 121= JE+X

2.27
RL
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2.26 b
XL
¢ = arctan ¢ = arctanﬁ 2.28
2.6 RL
220 Q 220 V 50 Hz 0.5 A
U 220
[Z] =5 =550 =400
\Z| = /R +X;
X, =V I|Z|*-R = /440® =220 Q ~ 381 Q
X, =2mfL
X, 381
L_wa_2><3.l4><50H~l'2H
X,=0 U, =0 RC 2.27 a RC
U= JU,+Us = JR +X. 1= 1Z]1
I-= ‘IZ]‘ 7] = JR + X2 2.29
RC
UR . R
¢ | ! 9
I X
! ||
|
VR B L
(@ (b)
2.27 RC
2.27 b
= aretan e 2.30
<p—arcanR .
2.7 2.28 a RC 800 Hz C =0.046 uF
u, u 30°
2.28 b u, u 30°

¢ =90° -30° = 60°
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s

+0
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ol
ol
<

('.]C7 Uo
@ (b)
2.28 2.7
t _ e
an ¢ = R
X, 1 1

0 =2.5kQ

Ttang  2mfCtan @ 2 x 3. 14 x 800 x 0. 046 x 10~ x tan 60°

2.2.5
u i p
p = w
1.
uw=U,sin wt i =1 sin wt
p = ui = U,sin wt X I sin wt
wi p 2.29
P W 2.29
Ul
P
2
p=ul=rt =Y 2.32
R
40 W 100 W
2.

. . . T
u=U,sin wt i =1 sin (a)t +?)

2.31

N~

<

N - —

e Sl B N/

2.29
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2.33

sin 2wt

2.2
2

22U 21

N
Sl N N e

U, I.sin 2wt = U, Isin 2wt

2

1

Ueol,sin 2wt =

2

)

m

)

v

2
Qc =U. = Xclz

Ul
2.31

var
. . Q)
I sin wt u= ULmsm( wl + ?)

i

Ug,sin wtlmsin( wt +

U Isin 2wt
p = ui = [ sin thLmsin(wt +

p =ul

N~ = NS
= \ Q,
Q Q
B~ B 5

-~

SN Nlse e

e e A
. \ .

2.30
Q¢

2.31
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Q, =Ul =X, 2.34
4. RLC
RLC RLC
P = Ul 2.35
2.24 a
U, = Ucos ¢
P = Ulcos ¢ 2.36
2.33 2.34
Q=UI-UJd= U -U. 1= X,-X, I’ = Ulsin ¢ 2.37
S
S = Ul 2.38
V- A 2.24 a 1
S P Q
S = VP + @ 2.39
RLC X, #X, cos @ #1 2.36
X, =X, =0 cosep=1
- T _m -
R=0 =5 y s e 0
2.2.6
1.
P S cos ¢
A =cos @ = L 2.40
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RL
2.32
2.33 RL
I I, RL I,
© <, COS ¢ > COs @,
o
+
1 R
=\i
U ¢ c 1
B!
o
2.32 RL C 2.33 RL
P =Ulcos ¢
_ P /= P
b7 Ucos ¢, Ucos ¢
2.33
I, =1I;sin — Isin ¢ = Lsin - ——si
c =1 P ¢ = Ucos o, P Ucos ¢
:U tan ¢, — tan ¢
U
] - T =
¢ T X, Uw C
C = o tan ¢, — tan ¢
P

C

ne

2.41
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2.8 10 kW 0.6 220 V
50 Hz 0. 95
cos ¢, =0.6 cos ¢ =0.95 @, =53° ¢ =18°
3
c=-L tang —tang = 10x10 tan 53° - tan 18° F = 656 pF
U2mf 2207 x 2 x 3.14 x 50
P 10 x 10°
[ = = A = . A
7 Ucos @, 220 x0.6 756
P 10 x 10°
I'= Ucos ¢ 220 x0.95 A =478 4
2.3
2.3.1
1.
2.34
X Y Y
X
2.
2.35

ORC)
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® X
© Y

“ LI T] 1»: 101« 1001« 1 000” 1 111 “ 10m loom 1 00017 _—

X ! ? 10 ~100 Hz 100 Hz ~1 kHz 1 ~10 kHz 10 ~100 kHz
“ X" « oy "
Yy
@ x
©
@ DC/AC “ DC”
“oACT

2.3.2

—_—

1 ~2 min

“ Y ” X

PO e ®©Oe
~

“Y %17 10" 100”1 0007 50 mV
0.5V5Vs50V
2.36 a 3.6 Y S (0

Up =0.5x3.6V =1.8V

“ Y [T ” 1 DC ”
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2.4
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I
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100”

5x3V =15V
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\
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120° 2.37 a

2.37 b 2.38

(€] ®)
2.37 2.38
120°
Uvw e, e, e, U ¢, O0° \Y
-120° W 120°
e, = E _sin wt

e, = E_sin wt —120°

e; = E sin wt +120°
e, +e, +e; =0 2.42
E +E, +E =0 2.43

2.4.2
Y
A
1.
U2 v2 w2 Ul V1 Wi
Y —oU
Ul N
2.39
b N” U
U2 uv
w2l "\ Uwu
Ul V1 W1 Wi M“\VI - -
UVW+ +

oW
ON



2.4.3

2.4
U, U, Uy U,
U, =U, =Uy = U,
Uy Uyy Uy U,
Uy = Uy = Uy = U,
A
U, = 43U,
380 V 220 V
2.40 a
FU1
Uo =
Vo =
Wo——F—3
No
r2] l I
| S | S S
| S | S | S

(2) ZAH U 2 i LA L
S

vo———=
No

S
V%Ei/ﬁ/@ﬁ
WwWo—E== S

(b) R RS K B TR RRSS

2.40
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I, =1,
Uy,
U, = — 2.44
N&Y
2. Uo
2.41
Vo —1
B3 Wo
Up = U, 2.41
[L
I, = — 2.45
A
2.4.4
P =P, +P, +Py
P =3P, =3U,l,cos ¢, 2.46
U,—
l,—
cos Qp——
Uy
Py, =3U,l,cos ¢p =3 flllcos Qp = 3U, I, cos ©p
i
P, =3U,l,cos ¢, =3U, —cos ¢, = J3U, 1,cos ©p
J3
P = .3U,I,cos @, 2.47
2.9 6 Q 8 () 380 V

Z = JR* + X* =

6°+8 Q=100



2.1
0.1 T AB
2.2

2.3

2.4

2.5

2.6

b=~ = >V =20V
BB
U
I, =1P=7*=212—00A=22A
cosgpp—% %—06

Py = J3U,I,cos ¢, = /3 x380 x22 x0.6 W = 8.7 kW
Uy =U, =380V

Up 380
]P_Z = 1OA_38A

I, =31, =3 x38 A =66 A

P, =J3U,I, cos ¢, = 3 x380 x66 x0.6 W = 26 kW

AB 5 m/s
10 cm AB
50 0.01 s 1.2 Wh
e=FE_sin wt V E, =100 V wl
3m 2m
25 33
U =220V f=50 Hz %:%
1=0.03 s
i =25in(100m+%) A =3sin(1001-rt—
220 V 100 W 220 V

w

3

) A



2.7
U U . u U,
1 = R 2 I= R 3 1= R 4 = R
UH] .
5 [m=R 6 p=UI 7 P=UI 8 p=uw

2.8 220 V 500 W u =220 ﬁsm( 1007 —2?“) %

2.9 5 mH 10 V 50 Hz

2.10 100 mH u=220.2
sin1l00mt V 1 3

2.11 £=50 Hz X, =100 Q 5 kHz

2.12 4.7 wF u =220 /2sin100w¢
\%

2.13 RL 100 Q 50 mH 12 V 50 Hz

RL
2.14 RL 12 V 50 Hz 50 O
40 QO

2.15 RC 100 Q 47 uF 12 V 50 Hz

2.16 60 1.25 uF 1w =110 ﬁsin(loom +%)
\% 1 2 3 4

2.17 RLC 12 V 50 Hz R =40 Q

50 Q 20 Q
2.18 R=4Q L=254 mH C =637 uF
u=3llsin(100'rrt+%) Voo 2 3

U, U, U, 4

2.19

2.20 220 V 50 Hz 10
kW 0.6 0.9

2.21
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2.23

2.24

380V
2.25 22 Q)

380 V 6 Q 8 Q0

R,=20Q R, =20 Q Ry, =10 Q

380 V
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3.5
3.6
2.

3.7 I 2 2



91

3.1

T

®) 75

(@ =R

3.6
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3.1

3
u,
PN, SR,
i |/ b
ST —— + +
" [T
u e §—1 PN, M{T—peae #
— [T
- o+ 4 ] [T — -
o— |
I\\ ________ -
(a) THEREE
3.10
U,
u _m
U, N,
P,
LU
I, - U, -
3.11
1 K 2
3.6
U 220

].1 — iZ —
ZL $ . . +
U, Nl§§N2 U, d]ZL
. _
(b) kK
I
=K
P,
N oL
N, K
U, =220 V Z, =R, =15 Q
I 1,
A =14.67

3.6

3.7

15



3.1
U, 15
]2_R2_15A_1A
I Lo x1 A =0.0682A =68.2mA
T K T 14.67 - -
i i i
+o—= — +o0—=1
+
U ; uy ZL¢ u ﬁz}_
(a) 2720V 388 IR A BELAR (b) B4 B A B AL
3.11
Z, Z'
’ Nl 2 2
2= () 120 =K 12
Z\
1/K*
3.2 Z, =8Q 20 O
N, =300 N,
3.8
Z" 20
K = Z A8 " 1.58
N, 300
M=% =155 =190
Sy V- A kV
UlN U2N UlN
Uy Ui
IIN ]ZN

3.11

3.8

Z
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3.1.4

cos @

U, = Uy

AU =

2N

:72>(
n P,

Uy -U

2 % 100%

100%

3.5

0.8

0.7

cos(— ¢,)=0.8

04

98% ~99%

06 08 10 L/

3.9

AU

3% ~5%

220 V. 380 V



36 V
6V
2.
220V
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20—
302
40—
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1
3.14 a
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U13 =U12_U34 1 3

3.13 a

3.13

NN,

3.1

24V 12V
110 V
3.13 b
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L.
1
t\ 2
u
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_ /37
4 —-——
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U12 U13 U34

Us=U,+Uy 1 4

12 34 1.5V 3V
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+
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3.
Ul V1 W1 U2 V2 w2
ul vl wl u2 v2 w2 3.15
U2 V2 W2 u2 v2
w2 Ul V1 W1 ul vl wl
Ul Vi w1 Ul Vi Wi
w2
Uv2 V2 U2 V2
(a) BIEISS (b) =ATBIKE—
3.16
Ul V1 WI ul vl wl 3.16 b
In
4,
3.17
Mool N1
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TUI oVl oWl
v v $Pw
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Lo L o L o
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D A ] A ]
lul ovl owl
3.15
3.16 a
Ul V1 wi
V2 w2
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Y
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1

0.5 mm
(a) FE A (b) H%Hr
3.25
2
3.25 b c
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3.27
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el ¥ IR
T
FL Al
A5 fH 42
Lz |
(2) Gk FragHLI 45 M (b) MRS RH A% K &R
3.27
3.2.2
1.
120° 3.28
Ul
V2
W2
Wi
Vi
U2
3.28
2.
50 Hz 50 n, =60/ =60 x50 r/min =
3 000 r/min
60° 3.29
p=2 90°

45° 180° p
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60
ny, = 60f 3. 11
p
n, / r/min
p—
U102 V. Viv2
U
3.29
3.3 S =50 Hz
p=lp=2p=3 p=4 g
60
p=1 nO=J=6OT50r/min=3000r/min
p
60f
p=2 nO:J=6OX50r/min:l500r/mir1
p 2
p=3 n,=1000 r/min p=4 ny =750 r/min
3.

3.30

3.30

3.30



3.2

n ny
1
ng n
s
nyg —n
s =
o
0.01 ~0.08
Ty
4 ~7
3.4 ny =1 440 1/min
SN
ny =1 440 r /min
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